### 85% Total Sell-Thru Rate

# 83% Sold at Full Price

Item Description	Regular Price	Sell Price	Item Description	Regular Price	Sell Price
Tribal Surf/Swim Shirt	\$2.00	\$1.00	Crewcuts Tshirt/White with Shark	\$3.00	\$3.00
Old Navy Swim Shirt/Red	\$1.50	\$1.50	Baby Gap shirt/navy with ice cream cone	\$1.50	\$1.50
Hatley Swim Shirt/Sharks	\$3.50	\$3.50	Max Studio Dress/White/Blue/Navy	\$4.00	\$4.00
Wonder Nation Swim Trunk/Volcano Dino	\$2.00	\$2.00	Matilda Jane Dress/Mint with rainbow skirt	\$6.00	\$6.00
Cat and Jack Swim Trunks/Blue/Teal/White Stripes	\$2.50	\$2.50	Matilda Jane Top/Grey with Flowers	\$5.00	\$5.00
Columbia Swim Trunks/Burnt Orange	\$2.50	\$2.50	Gymboree Hoodie/Grey with wave	\$3.00	\$3.00
Disney Store Ariel/Bathing Suit	\$2.50	\$2.50	Old Navy Shirt/Navy Striped with hearts	\$1.50	\$1.50
Boutique Swimsuits/Rainbow set of 2	\$6.00	\$6.00	Cat and Jack Dress/Navy/white striped	\$2.50	\$2.50
Catapa Cover up set/Black/Gold- Best Friends	\$5.00	\$2.50	Lands End Dress/Navy/White striped	\$2.50	\$2.50
Swim Cover-up Terrycloth/Teal/White Stripes	\$2.00	\$2.00	Carters Dress/Pink with dinos	\$3.00	\$3.00
Cat and Jack Bikini/Teal/Purple Mermaid	\$3.50	\$3.50	Baby Gap Dress/Rainbow "summer"	\$2.50	\$2.50
Wonder Nation Bikini 3pc/Set - Mermaid	\$4.00	\$4.00	Cat and Jack Dress/Neon Stripes	\$2.50	\$1.25
Justice Bikini/Green/Pink/Blue/Purple	\$2.50	\$2.50	Matilda Jane Shirt/"wonderful parade"	\$3.00	\$1.50
Abercrombie Kids bikini/blue/white Stripes	\$5.00	\$5.00	Under Armour Leggings/Black/Grey leopard	\$3.50	\$3.50
Justice Bikini/Navy/Multi	\$3.00	\$3.00	Nike Leggings/Grey constellation	\$3.00	\$3.00
Cat and Jack Swimsuit/Blue with Rainbow	\$3.50	\$1.75	Carters Polo Shirts/2 pack - melon/teal	\$2.00	\$1.00
Abercrombie Kids Bikini/Navy with Flowers	\$5.00	\$5.00	Old Navy tshirt/black Jedi	\$2.00	\$2.00
Champion Swimsuit/Black/Purple	\$3.50	\$3.50	Carters 2pc Outfit/"red white and cool"	\$2.00	\$1.00
Pottery Barn Kids/Robe - Red	\$3.00	\$3.00	Carters tshirt striped/red, white, blue	\$1.00	\$1.00
Disney Store Nightgown/Minnie Mouse	\$1.00	\$0.50	Carters Romper/Navy with Surf	\$2.00	\$2.00
Matilda Jane Sleep Shirt/Pastels	\$2.00	\$2.00	Rabbit Skins t-shirts/2 pack - rock and roll	\$2.00	\$2.00
Justice 2pc Pajamas/Pink/Hot Cocoa	\$3.00	\$3.00	Gap Kids Dress Shirt/pastel plaid	\$3.00	\$3.00
Disney Baby Lion King/2pc PJs- "I don't snore"	\$2.50	\$2.50	Minecraft tshirt/Navy Creeper	\$2.00	\$2.00
Cat and Jack 2pc PJs/Any Game, Any Time	\$2.50	\$2.50	Under Armour tshirt/Red USA	\$3.00	\$3.00
Cat and Jack 2pc PJs/Blue with sharks	\$2.50	\$2.50	Under Armour Hoodie/Black Steelers	\$6.00	\$6.00
Janie and Jack Dress/Pink with ruffles	\$4.00	\$2.00	Under Armour Long sleeve/Hooded shirt - red	\$5.00	\$5.00
Polo Ralph Lauren Dress/White Sweater	\$5.00	\$2.50	BRAND NEW Jumping Beans/Shorts - Grey	\$5.00	\$5.00
Hanna Andersson Dress/Pink Striped	\$2.00	\$2.00	Children's Place Shirt/navy "GOAL!"	\$2.50	\$2.50
Hanna Andersson Dress/Blue with Flowers	\$3.00	\$3.00	Under Armour LS Shirt/"Born Fast"	\$4.00	\$4.00
Hanna Andersson Dress/Green with Flowers	\$3.00	\$3.00	Umbro tshirt/blue/yellow	\$3.00	\$3.00
Jumping Beans tshirt/be kind to each other	\$1.50	\$1.50	Cat and Jack tshirt/navy with soccer ball	\$3.00	\$3.00
Jumping Beans tshirt/be kind to each other	\$1.50	\$1.50	Under Armour Zippered/Hoodie - brown camo	\$5.00	\$5.00
Oshkosh 2pc Outfit/Blue with Circles	\$2.00	\$2.00	Adidas Track Jacket/navy/red	\$5.00	\$5.00
Baby Gap tshirt/Navy with dino & flowers	\$1.50	\$1.50	Under Armour 2pc outfit/Blue - shirt/shorts	\$6.00	\$6.00
Carters tank top orange/totally amazing sister	\$1.50	\$1.50	Under Armour Shorts/blue/grey stripe	\$4.00	\$4.00
Disney tank top/Red with Minnie	\$1.50	\$1.50	Under Armour Shorts/Green/Navy	\$4.00	\$4.00
Old Navy Tank Top/Red with wonder woman	\$1.50	\$1.50	Old Navy Pants/grey/black	\$3.00	\$3.00
Harry Potter t-shirts/2 pack - grey and maroon	\$4.00	\$2.00	Under Armour Shorts/black	\$5.00	\$5.00
Janie and Jack Dress/White with blue flowers	\$6.00	\$6.00	Levis Jeans/511 Slim	\$5.00	\$5.00
Janie and Jack Dress/Navy with Sailboats	\$6.00	\$6.00	Under Armour Pants/Grey	\$4.00	\$4.00
Janie and Jack Romper/Pink	\$6.00	\$6.00	All in Motion Shorts/Red/Navy Ombre	\$3.50	\$3.50
Janie and Jack Romper/Seersucker	\$6.00	\$6.00	Athletic Works Shorts/Navy/White	\$1.50	\$1.50
Epic Threads tshirt/Happy and free - red	\$1.50	\$1.50	Gap Kids Dress Shirt/Blue Plaid	\$3.50	\$3.50
Hanna Andersson Skort/Pink w/ stripes & flower	\$1.00	\$0.50	Cat and Jack Polo Shirt/Blue	\$2.50	\$2.50
Under Armour 2pc outfit/USA - shirt and skort	\$5.00	\$5.00	Under Armour tshirt/Black with Paint Run	\$4.00	\$4.00

Item Description	Regular Price	Sell Price	Item Description	Regular Price	Sell Price
Under Armour tshirt/Red USA	\$4.00	\$4.00	Jumping Beans Dress/Mint with rainbow skirt	\$3.00	\$3.00
Under Armour Fleece/Pullover - grey/red	\$5.00	\$2.50	LulaRoe Dress/black	\$3.00	\$1.50
BRAND NEW All in Motion/Pants - Grey	\$5.00	\$5.00	LulaRoe Dress/Floral	\$3.00	\$3.00
Realtree t-shirt/Camo	\$3.00	\$3.00	Abercrombie Kids Shirt/Pink with sparkle	\$3.00	\$3.00
Gymboree Shirt/Navy w/ Camping	\$3.00	\$3.00	Matilda Jane 435/2pc outfit	\$6.00	\$6.00
Athletic Works Shirt/black with sports	\$3.00	\$1.50	My Michelle Romper/Red/White	\$5.00	\$5.00
Under Armour Track/Jacket - Blue/Navy	\$6.00	\$6.00	Cat and Jack Dress/Blue tie dye	\$4.00	\$4.00
Under Armour LS Shirt/Red/Grey	\$5.00	\$5.00	Gap Kids LS Shirt/Black w/ unicorn	\$2.00	\$2.00
Jumping Beans LS Shirt/Orange with baseball	\$3.00	\$3.00	Wonder Nation Hoodie/Mint	\$3.50	\$3.50
Under Armour Shorts/Lime/Green/Blue	\$4.00	\$4.00	Wonder Nation Hoodie/Lavender	\$3.50	\$3.50
Nike Shorts/Black/White pattern	\$4.00	\$4.00	Old Navy Active/2pc outfit - grey/black	\$4.00	\$4.00
Nike Shorts/Black/Green pattern	\$4.00	\$4.00	Members Mark Leggings/3 pack	\$3.00	\$3.00
Nike Shorts/Navy	\$4.00	\$4.00	Lands End Leggings/Navy	\$1.50	\$1.50
The Children's Place/tshirt- navy w/ baseball	\$2.00	\$1.00	Old Navy Romper/Denim	\$5.00	\$5.00
Under Armour 2pc outfit/Shirt/Pants Red "I Will"	\$6.00	\$6.00	Wonder Nation Tank/Blue/Purple Pattern	\$1.00	\$0.50
Jumping Beans Pants/Grey/Orange	\$4.00	\$4.00	The Children's Place/Tank - USA Heart	\$1.50	\$1.50
Nike tshirt/Blue	\$3.00	\$3.00	Justice Leggings/"Softball"	\$3.00	\$3.00
Polo Ralph Lauren Shirt/White Polo	\$3.00	\$1.50	Good Times t-shirt/"Choose Happy"	\$1.50	\$1.50
Lego tshirt/Orange	\$2.00	\$2.00	No Boundaries Hoodie/White (soft)	\$2.50	\$2.50
Jumping Beans Shirt/Score	\$3.00	\$3.00	by & by girl/Romper - mint	\$5.00	\$5.00
Jumping Beans LS Shirt/Scooby Doo	\$2.00	\$2.00	Matilda Jane 435 Dress/Grey/blue/polka dot	\$8.00	\$4.00
Fila tshirt/Red w/ baseball	\$2.00	\$2.00	Matilda Jane Romper/Blue Square Plaid	\$8.00	\$8.00
Old Navy Pants/Black	\$3.00	\$3.00	Bixby SS Shirt/Red/pink tie dye	\$2.50	\$2.50
All in Motion Shorts/Black stripes	\$3.00	\$3.00	rumi and ryder SS Shirt/black/white stripe	\$2.50	\$2.50
Nike Sweatpants/Grey	\$5.00	\$5.00	rumi and ryder SS Shirt/hunter green	\$2.50	\$1.25
Under Armour Shorts/Black/Red	\$5.00	\$5.00	rumi and ryder SS Shirt/grey/white stripe	\$2.50	\$1.25
Under Armour Shorts/Grey	\$5.00	\$5.00	rumi and ryder SS Shirt/dark grey	\$2.50	\$1.25
Under Armour Shorts/Red	\$3.50	\$3.50	Under Armour Pullover/Purple	\$5.00	\$2.50
Gap Zippered Hoodie/Blue	\$3.50	\$1.75	Under Armour tshirt/"I Wake Up Awesome"	\$3.00	\$1.50
Gap Kids Shirt/Blue/White	\$3.00	\$1.50	Under Armour Sweatpants/Grey	\$3.50	\$3.50
Gap Kids Shirt/Grey/Green	\$3.00	\$1.50	Under Armour Shorts/Purple	\$3.50	\$1.75
Jumping Beans tshirt/Navy/Grey	\$2.00	\$2.00	Nike Shorts/Pink/Orange	\$1.50	\$1.50
Gap Kids tshirt/Blue soccer	\$2.50	\$1.25	Under Armour Hoodie/Teal/Pink	\$5.00	\$5.00
Wonder Nation LS Shirt/Red	\$2.50	\$1.25	Janie and Jack Tank/Dark Pink	\$2.50	\$1.25
Jumping Beans LS Shirt/Green Camo w/ football	\$3.00	\$3.00	Old Navy Maxi Dress/Floral	\$3.50	\$3.50
Old Navy LS Shirt/Navy/Grey	\$3.00	\$3.00	SO Sweatshirt/Blue Tie Dye	\$4.00	\$2.00
Athletic Works LS Shirt/Navy w/ football	\$3.00	\$3.00	Cat and Jack Tank/Red/White/Blue	\$2.00	\$2.00
Under Armour Pants/Grey	\$5.00	\$5.00	Vineyard Vines SS Shirt/Light Blue	\$3.00	\$3.00
Jumping Beans Pants/Navy/Blue	\$3.00	\$3.00	Adidas 2pc Outfit/Tank/Shorts - pink/black	\$6.00	\$3.00
Cat and Jack tshirt/Red Baseball	\$2.50	\$2.50	Fifth Sun tshirt/"Work Hard & Be Nice"	\$2.00	\$1.00
Champion 2pc Outfit/Red Basketball	\$6.00	\$6.00	Justice Shorts/Neon Orange	\$3.00	\$1.50
Champion tshirts/pack of 2 - navy/black	\$5.00	\$5.00	Under Armour Shorts/Grey	\$3.00	\$1.50
Fortnite LS Shirt/Grey	\$3.00	\$1.50	Under Armour Tanks/pack of 3	\$5.00	\$5.00
BRAND NEW Under Armour/Tech Shirt - Blue	\$6.00	\$6.00	BRAND NEW All in Motion/Grey LS Shirt	\$5.00	\$2.50
The Children's Place/Navy Tank w/lace	\$2.50	\$2.50	Cat and Jack Maxi Dress/Black/White	\$3.00	\$3.00

Item Description	Regular Price	Sell Price	Item Description	Regular Price	Sell Price
Athleta Girl Leggings/Purple	\$5.00	\$2.50	Ling and Ting/Share a Birthday	\$1.00	\$1.00
The Children's Place/Denim Shortalls	\$4.00	\$4.00	5 Minute Fancy Nancy/Stories - Hardback	\$3.00	\$3.00
Justice LS Shirt/navy/white w/soccer	\$3.00	\$3.00	Set of 13 Little Critter/Books by Mercer Mayer	\$4.00	\$4.00
Old Navy SS Shirt/2 pack - Camo	\$2.50	\$1.25	Lego City Level 1 Reader/Ready for Takeoff!	\$1.00	\$1.00
Under Armour Hoodie/Purple/Pink	\$6.00	\$3.00	Walt Disney's/Cinderella	\$0.50	\$0.25
Under Armour Leggings/Black Capri length	\$5.00	\$2.50	Lego City Where's the/Pizza Boy? Look and Find	\$1.00	\$1.00
American Eagle Shorts/Distressed Denim	\$4.00	\$4.00	Elephant and Piggie/and Pigeon and Mo	\$1.00	\$0.50
No Boundaries Zippered/Hoodie - Maroon	\$2.00	\$2.00	God Gave Us Christmas	\$0.50	\$0.50
Ouges Leggings/Black Camo	\$3.00	\$1.50	How do Dinosaurs Say/I'm Mad	\$1.00	\$1.00
Fanatics SS Shirt/Grey - Pgh Penguins	\$2.50	\$2.50	The Easter Story/for Children	\$1.00	\$1.00
The Limited Perfect Tee/Grey/White Striped	\$2.00	\$2.00	Disney Vampirina/Vee's Fangtastic World	\$3.00	\$3.00
Black Hoodie - #softball/is my boyfriend	\$4.00	\$4.00	Flat Stanley's/Worldwide Adventures	\$1.00	\$1.00
Under Armour Bike Shorts/Navy	\$1.00	\$1.00	Lego Jurassic World/Owen's Guide to Survival	\$2.00	\$2.00
Crewcuts Jacket/Navy	\$5.00	\$5.00	Lego Level 1 Reader/Super Sharks	\$1.00	\$1.00
Under Armour Chest Guard/Black	\$5.00	\$5.00	Lego Level 2 Reader/Owen to the Rescue	\$1.00	\$1.00
Under Armour Chest Guard/White	\$5.00	\$5.00	Jurassic World Level 3/Reader - Danger: Dinos!	\$1.00	\$1.00
BRAND NEW Evoshield/Baseball Pants - YS	\$8.00	\$8.00	I Can Read!/Pete the Cat - Play Ball	\$1.00	\$1.00
Little Tikes Cozy Coupe/Red/Yellow	\$20.00	\$20.00	Happy Easter Mouse/Board Book	\$1.50	\$1.50
Air Fort/w/ Box Fan	\$15.00	\$15.00	Hello, World/Weather - Board Book	\$1.00	\$1.00
Kid Kraft Table and/4 chairs (multicolor)	\$25.00	\$25.00	The Misadventures of Max/Crumbly	\$2.00	\$2.00
Little Castle Rocking/Chair for Nursery	\$40.00	\$20.00	Eerie Elementary/The Locker Ate Lucy	\$2.00	\$2.00
Kid Kraft Train Table w//trains, track, and more	\$40.00	\$40.00	Brick Vehicles/Lego Building Book	\$2.50	\$2.50
Casio Electric Keyboard/and Stand	\$50.00	\$25.00	Little Tikes Grill Set	\$10.00	\$10.00
llama llama easter egg/board book	\$2.00	\$2.00	Carters 2pc PJs/Pink Elephant w/ flowers	\$2.00	\$2.00
Baby Touch and Feel/Wild Animals	\$1.00	\$1.00	Carters 2pc PJs/pack of 3	\$1.50	\$1.50
My Easter Basket/3D Board Book	\$2.00	\$2.00	Night Life PJs/Pink Ladybug	\$1.50	\$1.50
Who Am I?/Lift the Flap Book	\$2.00	\$2.00	Carters 2pc PJs/Purple Princess	\$2.00	\$2.00
ABC Alphaprints/Large Board Book	\$3.00	\$3.00	Old Navy 2pc PJs/Ballerina	\$2.00	\$2.00
A to Z Board Book/Sandra Boynton	\$1.00	\$1.00	Paw Patrol 2pc PJs/Set of 2	\$2.50	\$2.50
Set of 2 Pookie Books/Sandra Boynton	\$1.50	\$1.50	Base Layer Pants/Purple	\$2.00	\$2.00
Set of 2 Hippo Books/Sandra Boynton	\$1.50	\$1.50	Cat and Jack 2pc/Teal w/ flamingos	\$2.50	\$2.50
Set of 3 Board Books/Sandra Boynton	\$1.50	\$1.50	Cat and Jack 2pc/Navy Polkadots w/ heart	\$2.50	\$2.50
Power Treads Track Set/w/ Vehicles	\$5.00	\$2.50	Cat and Jack 2pc/Flowers/Heart	\$2.00	\$2.00
Fisher Price Activity/Blocks	\$5.00	\$5.00	Peppa Pig 2pc tankini	\$3.00	\$3.00
Button Peg Puzzle Set	\$3.00	\$3.00	Cartwheel Shorts/Pack of 2 - black/pink	\$1.50	\$1.50
Jurassic World Puzzle/w/ Storage Egg	\$1.00	\$1.00	Under Armour Leggings/Black/Grey	\$3.00	\$3.00
Big! Fire Truck/Floor Puzzle	\$1.50	\$1.50	Abercrombie Kids/Shorts - white/navy	\$2.00	\$2.00
Match It! Upper & Lower/Case Letters	\$1.50	\$1.50	Abercrombie Kids/Leggings - navy	\$2.50	\$2.50
Twinkle Twinkle Little/Star Floor Puzzle	\$1.50	\$1.50	Cat and Jack Shorts/White Denim	\$2.50	\$2.50
Wall Calendar with date/and holiday cards	\$5.00	\$5.00	Nike Shorts/Blue/Pink	\$3.00	\$3.00
Unicorn Plush Journal/BRAND NEW	\$1.50	\$1.50	Abercrombie Kids shorts/pink cotton	\$2.50	\$1.25
Water Can Be/Hardback Book	\$1.50	\$1.50	Ralph Lauren Leggings/Navy	\$2.50	\$1.25
LEGO Star Wars Visual/Dictionary	\$1.50	\$1.50	Matilda Jane 435/Bike Shorts - blue	\$2.00	\$2.00
Swimming Sal/Hardback Book	\$1.50	\$0.75	Under Armour Shorts/Pink/White	\$2.00	\$1.00
Angelina on Stage/Hardback Book	\$1.50	\$1.50	Justice Cotton Shorts/Black with splatter	\$1.50	\$0.75

# 85% Total Sell-Thru Rate

83% Sold at Full Price

Item Description	Regular Price	Sell Price	Item Description	Regular Price	Sell Price
SO Shorts/White Denim	\$3.00	\$3.00	Adidas Water Shoes/Melon	\$2.50	\$2.50
SO Shorts/Denim w/lace	\$3.00	\$1.50	Oshkosh Sandals/White Flowers	\$2.50	\$2.50
Old Navy Denim Shorts/w/ lace	\$3.00	\$1.50	Rainbow Flip Flops/Brown Leather	\$5.00	\$5.00
Champion Cotton Shorts/Pink	\$1.50	\$1.50	Rainbow Flip Flops/Brown Leather	\$5.00	\$5.00
Under Armour Leggings/Black/Grey Pattern	\$3.00	\$3.00	SO Black Dress Flats/Never Worn	\$5.00	\$5.00
New Balance Leggings/Grey Capri	\$2.50	\$2.50	SO Black Boots	\$3.00	\$3.00
90 degrees black/leggings	\$3.00	\$3.00	Nike Vapor Baseball/Cleats - Black	\$4.00	\$4.00
Old Navy Leggings/Black Cotton	\$1.00	\$0.50	Under Armour Baseball/Cleats - Black/White	\$4.00	\$4.00
Under Armour Leggings/Pink Pattern	\$2.50	\$1.25	TOMS Mary Janes/Light Pink Sparkle	\$3.00	\$3.00
Baby Gap Shorts/Navy	\$1.00	\$1.00	TOMS Canvas Shoes/Rainbow Accent	\$2.50	\$2.50
Old Navy Shorts/Khaki	\$1.00	\$1.00	BRAND NEW Adidas/Tennis Shoes - Pink	\$12.00	\$12.00
Grey Cotton Shorts	\$1.00	\$1.00	Under Armour Tennis Shoe/Blue/Orange	\$3.00	\$3.00
Old Navy Skort/Grey Cotton	\$1.00	\$1.00	Adidas Tennis Shoes/Royal Blue	\$5.00	\$5.00
Champion Athletic/Shorts - Black	\$3.00	\$3.00	Camo Flip Flops	\$1.00	\$1.00
Champion Athletic/Shorts - Black	\$3.00	\$3.00	Baseball Coin Bank	\$8.00	\$8.00
Champion Athletic/Shorts - Black	\$3.00	\$3.00	Baseball Wall Shelf	\$3.00	\$3.00
Champion Athletic/Shorts - Black	\$3.00	\$3.00	Baseball Wall Clock	\$3.00	\$3.00
Jumping Beans Shorts/Black Cotton	\$2.00	\$2.00	Baseball Picture Frame	\$2.00	\$2.00
Champion Shorts/Pack of 2 - lime/navy	\$5.00	\$5.00	Soccer Picture Frame	\$2.00	\$2.00
Learn to Tie Shoes/Pack of 3	\$3.00	\$3.00	Dinosaur Bible	\$5.00	\$5.00
Frindle	\$1.50	\$1.50	Dinosaur Bible	\$5.00	\$5.00
No Talking	\$1.00	\$1.00	Guess How Much I Love/You - Pop Up Edition	\$2.00	\$2.00
Extra Credit	\$1.00	\$0.50	Pack of 3 Classic/Stories	\$1.00	\$1.00
A Girl After God's Own/Heart - Book and Devo	\$3.00	\$1.50	Pack of 4 Dr. Seuss/Step into Reading	\$2.00	\$2.00
Amelia Bedelia Books/Set of 3	\$2.00	\$2.00	Snow Day! A Winter/Tale - Pre-Level 1	\$0.50	\$0.50
Harry Potter and the/Sorcerer's Stone	\$1.50	\$1.50	Little Critter Sleeps Ov/Level 2 Reader	\$0.50	\$0.50
Best Friends/Graphic Novel	\$2.00	\$2.00	Emerson is a Mighty Girl/Level 2 Reader	\$0.50	\$0.50
Sunny Side Up/Graphic Novel	\$2.00	\$2.00	Mouse Soup/Level 2 Reader	\$1.00	\$1.00
Who Was Amelia Earhardt?	\$1.00	\$1.00	Just a Baby Blrd/My First Reader	\$0.50	\$0.50
Dork Diaries - Tales/from a Not-So-Fabulous	\$2.50	\$2.50	Animals/Level 2 Reader	\$0.50	\$0.25
Phoebe and her Unicorn/Book 1	\$1.50	\$0.75	Pack of 5 activity books	\$1.00	\$1.00
Phoebe and her Unicorn/Unicorn Theater	\$1.50	\$0.75	Steam Train, Dream Train/Goodnight Construction	\$1.00	\$1.00
Phoebe and her Unicorn/Unicorn of Many Hats	\$1.50	\$0.75	The Beginners Blble	\$2.00	\$2.00
Phoebe and her Unicorn/Unicorn Crossing	\$1.50	\$0.75	What is Christmas?/Board Book	\$1.00	\$0.50
Natural Baby and/Childcare	\$3.00	\$3.00	Disney Beauties in Bloom/Board Book	\$0.50	\$0.50
Drop!/Water Cycle	\$1.00	\$1.00	Bear Shadow	\$0.50	\$0.50
Drop!/Water Cycle	\$1.00	\$1.00	Pete the Cat/I Love My White Shoes	\$1.00	\$1.00
The Cat in the Hat	\$1.50	\$1.50	Walt Disney's/Cinderella	\$1.00	\$1.00
Frozen Slippers/Size 9-10	\$2.00	\$2.00	Aliens Love Dinopants	\$0.50	\$0.50
Frozen Slippers/Size 9-10	\$2.00	\$2.00	The Beginners Blble/The Very First Easter	\$0.50	\$0.50
Ugg Slippers/Navy Blue	\$6.00	\$3.00	Curious George/Goes to the Beach	\$0.50	\$0.50
Cat and Jack/Yellow Natives	\$2.00	\$2.00	If You Give a Cat a/If You Give a Pig a	\$1.00	\$1.00
Cat and Jack/Pink Natives	\$2.00	\$2.00	Happy Easter, Mouse	\$1.00	\$1.00
Hanna Andersson Slip ons/Navy/White Striped	\$3.00	\$1.50	Let's Talk About/Whining	\$0.50	\$0.50
Reebok Ortholite/White Tennis Shoes	\$3.00	\$3.00	From Head to Toe/by Eric Carle	\$1.50	\$1.50

Item Description	Regular Price	Sell Price	Item Description	Regular Price	Sell Price
Set of 2 Curious George/Hardback Books	\$1.50	\$1.50	Melissa and Doug/Dress Up Girl	\$4.00	\$4.00
Disney Frozen/A Big Golden Book	\$1.50	\$0.75	Melissa and Doug/Dress Up Princess	\$4.00	\$4.00
Curious George Feeds the/Animals - Hardback	\$2.00	\$2.00	The Beginners Bible/Very First Christmas	\$0.50	\$0.50
Curious George/Hardback Book	\$1.50	\$1.50	The Beginners Bible/for Toddlers	\$3.00	\$1.50
My Mommy and Me/Hardback Book	\$2.00	\$2.00	The One Year Devotions/for Preschoolers	\$3.00	\$3.00
Hop, Wriggle, Dance with/Peter Rabbit	\$1.00	\$1.00	Rocking Chair for 18in/Doll - Black	\$5.00	\$5.00
The Elf on the Shelf/Hardback Book	\$2.00	\$2.00	Rocking Chair for 18in/Doll - White	\$5.00	\$5.00
The First Christmas/Hardback Book	\$1.00	\$1.00	Pull-Ups size 4T/5T	\$6.00	\$6.00
Elf Pets/A Reindeer Tradition	\$1.00	\$1.00	Pull-Ups size 4T/5T	\$4.00	\$4.00
The Nutcracker/Hardback Book	\$3.00	\$3.00	TOMY Magnetic Gears/Board	\$6.00	\$6.00
What is Easter?/Large Board Book	\$2.00	\$2.00	I Am A Child of God/Canvas	\$3.00	\$3.00
God Gave Us Christmas	\$0.50	\$0.50	Disney Princess Canvas	\$6.00	\$6.00
Be My Valentine/Charlie Brown	\$1.50	\$1.50	Magnetic Dart Board	\$5.00	\$5.00
Tyrone the Horrible	\$0.50	\$0.50	Kids Headphones/Blue	\$3.00	\$3.00
Paw Patrol Umbrella	\$3.00	\$3.00	Bedroom Disco Light/Projector	\$3.00	\$3.00
Shopkins Pool Bag	\$2.00	\$1.00	Munchkin Step Stool	\$3.00	\$3.00
20 pairs of toddler girl/socks - 2T/3T	\$3.00	\$3.00	Himalayan Salt Lamp	\$4.00	\$4.00
BRAND NEW DSG socks/5 pairs	\$2.00	\$2.00	Set of 2 square "home"/signs	\$5.00	\$5.00
Cat and Jack Hat/Striped	\$1.50	\$1.50	Love and Endless Laundry/sign	\$3.00	\$3.00
Cowgirl Hat/Black	\$3.00	\$3.00	Dinosaur Blanket	\$5.00	\$5.00
Dinosaur Devotions	\$2.50	\$2.50	Dinosaur Blanket	\$5.00	\$5.00
Max Lucado/Children's Treasury	\$2.50	\$2.50	Jurassic World/Twin Sheet Set	\$5.00	\$5.00
Large White Basket/Perfect for Easter!	\$3.00	\$3.00	Jurassic World/Twin Sheet Set	\$5.00	\$5.00
Don't Spill the Beans	\$2.00	\$1.00	Fox and Puppy Blanket/Toddler Size	\$2.00	\$2.00
Jurassic World UNO	\$1.50	\$1.50	Matilda Jane Blouse/Floral	\$4.00	\$2.00
Peanut Butter and Jelly/Card Game	\$2.00	\$2.00	BRAND NEW Matilda/Jane Dress - Yellow/Mint	\$12.00	\$12.00
Bunny Hop	\$3.00	\$3.00	Love Knit Hoodie/Blue	\$3.00	\$3.00
Twister	\$3.00	\$1.50	BRAND NEW Xhilaration/Dress - Floral	\$5.00	\$2.50
ChickyBoom	\$3.00	\$3.00	Max Studio Maxi Skirt/Navy Blue	\$3.00	\$3.00
Stack Up!	\$3.00	\$3.00	Grey Striped Sweatshirt	\$2.00	\$2.00
Five Little Monkeys/Jumping on the Bed	\$2.50	\$2.50	10 pairs of girls/underwear - 4T	\$1.50	\$1.50
Hoot Owl Hoot!/A Cooperative Game	\$3.00	\$3.00	Reebok Youth Sport Socks/Purple	\$1.00	\$1.00
Bugs in the Kitchen/w/ Hex Bug	\$4.00	\$2.00	Umbro Soccer Socks/Pink/Blue	\$1.00	\$1.00
Lego Puzzle 500pc	\$1.00	\$0.50	2 pack sport socks/pink/purple chevron	\$2.00	\$1.00
Leap Frog Magnetic/Barn w/ animals	\$2.50	\$2.50	2 pairs of shin guards/Youth Small	\$3.00	\$1.50
Magnetic Letters	\$1.00	\$1.00	Cat and Jack Skort/Blue	\$2.50	\$2.50
Melissa and Doug/Magnetic Letters	\$1.50	\$1.50	Cat and Jack Skort/Blue	\$2.50	\$2.50
Melissa and Doug/Little Princesses	\$4.00	\$4.00	Carters Skinny Jeans	\$2.00	\$2.00
Melissa and Doug/Transportation	\$2.00	\$2.00	Cat and Jack Leggings/Maroon Sparkle	\$2.00	\$2.00
Thomas the Train/Wooden Puzzle	\$2.00	\$2.00	Cat and Jack Leggings/Maroon Sparkle	\$2.00	\$2.00
Schylling Train Puzzle	\$2.00	\$2.00	Adidas Leggings/Blue	\$2.50	\$2.50
The Learning Journey/Colors and Shapes Puzzle	\$2.00	\$2.00	Gap Kids Leggings/Grey with hearts	\$2.00	\$2.00
Perfection/Travel Size	\$1.00	\$1.00	BRAND NEW Cat and Jack/Leggings - Navy	\$2.50	\$2.50
Sequence for Kids	\$3.00	\$3.00	Hanna Andersson Shirt/Mint with Heart	\$2.00	\$2.00
Lucky Ducks/Sesame Street	\$3.00	\$3.00	Pack of 2 Harry Potter/t-shirts	\$5.00	\$2.50

Item Description	Regular Price	Sell Price	Item Description	Regular Price	Sell Price
Polo Ralph Lauren Shirt/Yellow	\$1.50	\$1.50	Lego Jurassic World/Jurassic Hero	\$2.00	\$2.00
Nike Tshirt/Neon Green	\$2.00	\$2.00	Silly Scents Dough/3 pack	\$1.00	\$0.50
Cat and Jack LS Shirt/White "power"	\$1.50	\$1.50	In This HomeCanvas/Grey with Flowers	\$1.50	\$1.50
Cat and Jack LS Shirt/Maroon Sparkle	\$2.00	\$2.00	Hot Dots Jr./With Cards and Pen	\$4.00	\$4.00
Cat and Jack LS Shirt/Maroon Sparkle	\$2.00	\$2.00	Pack of 6 Flashcard Sets	\$1.50	\$1.50
Gap Kids LS Shirt/Grey with stars	\$1.00	\$0.50	Dangerous Creatures/Hardback Book	\$2.00	\$2.00
Baby Gap Sweatshirt/Yellow "lucky"	\$2.50	\$1.25	Paper Airplane Kit	\$2.00	\$2.00
Cat and Jack LS Shirt/Maroon with lace	\$2.00	\$2.00	Jurassic World/Inflatable T.Rex	\$8.00	\$8.00
Oshkosh Zip Up Hoodie/Tan with Stars	\$2.00	\$2.00	BRAND NEW Build Your/Own Volcano	\$5.00	\$5.00
Gap Zip Up Sweatshirt/Melon	\$2.00	\$2.00	Harry Potter Perler/Bead Kit	\$3.00	\$3.00
Old Navy Zip Up Hoodie/Grey with purple letters	\$2.00	\$2.00	FUNdations Letter Board/contains ALL letters	\$1.50	\$0.75
Jumping Beans Zip Up/Hoodie - Pink	\$2.00	\$2.00	Pack of 2 Sesame Street/Workbooks	\$1.00	\$0.50
Matilda Jane Sleeveless/Tunic - Apples	\$6.00	\$6.00	Jake and the Neverland/Pirates Color Wonder	\$0.50	\$0.25
Baby Gap Dress/Grey/Plaid	\$2.50	\$2.50	Usborne First Learning/Opposites	\$0.50	\$0.50
Hanna Andersson Dress/Fairy Tutu - Blue	\$5.00	\$5.00	Pack of 2 Sticker Books	\$0.50	\$0.50
Old Navy Dress/Grey with Unicorns	\$2.00	\$2.00	Little Tikes Coloring/Book	\$0.50	\$0.25
Old Navy Dress/Grey with flowers	\$2.00	\$2.00	Little Tikes Coloring/Book	\$0.50	\$0.50
Old Navy Dress/Mauve with hearts	\$2.00	\$2.00	Addition & Subtraction/Word Problems	\$1.50	\$0.75
Cat and Jack Dress/Blue with hearts	\$2.00	\$2.00	Addition & Subtraction/Timed Tests	\$1.50	\$0.75
Rare Editions Easter/Dress - Off White	\$5.00	\$5.00	Pack of 2 Kindergarten/Workbooks	\$1.00	\$0.50
OP Swimsuit Navy with/Hearts	\$2.00	\$2.00	Lego Ninjago/Activity Book	\$1.00	\$1.00
Disney Frozen/Anna Sleep Dress	\$2.00	\$2.00	Disney Elsa Doll	\$4.00	\$2.00
2 pack PJs - Old Navy/Butterflies	\$5.00	\$5.00	Disney Snow White Doll	\$4.00	\$2.00
The Children's Place PJs/Flowers -Sleeping beauty	\$2.00	\$2.00	USA Canvas Wall Art/30in x 24in	\$10.00	\$10.00
Carters 2pc PJs/Pink with dogs	\$2.00	\$2.00	Large World Canvas Wall/Art (46in x 36in)	\$15.00	\$7.50
Baby Gap 2pc PJs/Wonder Woman	\$2.00	\$2.00	(3) Ice packs for/boo boos - penguins	\$3.00	\$3.00
Baby Gap 2pc PJs/Pink with DInos	\$2.50	\$2.50	Nike Hoodie/Hunter Green	\$4.00	\$4.00
Baby Gap 2pc PJs/Pink with stripes	\$2.00	\$2.00	Under Armour Zip Up/Hoodie - black	\$4.00	\$4.00
Carters 2pc PJs/Purple with Cupcakes	\$2.50	\$1.25	Under Armour 1/4 zip/blue	\$5.00	\$5.00
St. Eve's 2pc PJs/Blue with unicorns	\$1.00	\$1.00	Under Armour 1/4 zip/Grey	\$5.00	\$5.00
Disney Frozen Anna/Sleep Dress	\$3.00	\$3.00	Under Armour 1/4 zip/black	\$5.00	\$5.00
Piggie Lunchbox/Mo Willems	\$2.50	\$2.50	Under Armour 1/4 zip/Jacket - grey	\$6.00	\$6.00
Conair Curling Iron	\$3.00	\$3.00	Under Armour Zip Up/Blue Camo	\$5.00	\$5.00
Raskullz Dino Spike/Helmet - Black/Green	\$4.00	\$4.00	Under Armour Zip Up/Lime Green/Grey	\$5.00	\$5.00
Raskullz Dino Spike/Helmet - Black/Green	\$4.00	\$2.00	Under Armour 1/4 zip/blue	\$5.00	\$5.00
Pack of 2 Lego Keychains	\$3.00	\$1.50	Adidas Hoodie/Royal Blue	\$5.00	\$5.00
RoboRaptorX Remote/Control Dinosaur	\$12.00	\$12.00	Football Piggy Bank	\$1.00	\$1.00
EvoShield Chest/Protector - Grey	\$5.00	\$2.50	Polaroid Digital Camera/Black	\$2.00	\$2.00
EvoShield Chest/Protector - Grey	\$5.00	\$5.00	NEVER WORN Dockers/Mocassin Slippers -Brown	\$3.00	\$3.00
Praying Circles Around/Your Children	\$0.50	\$0.25	Fisher Price Potty/Penguin	\$3.00	\$3.00
Shark School	\$1.00	\$1.00	Bauer Ice Hockey Skates/Size 3	\$8.00	\$8.00
Pack of 2 "I Can Draw/That" Books	\$1.00	\$1.00	2 in 1 Ice + Inline/Skates - size 12-2	\$5.00	\$5.00
The Good Egg	\$0.50	\$0.50	Razor 2-wheeled scooter/Black	\$8.00	\$8.00
The Good Egg	\$0.50	\$0.50	Razor 2-wheeled scooter/Pink	\$8.00	\$4.00
Know and Glow Space/Sticker Activities	\$1.00	\$0.50	Razor 2-wheeled scooter/Blue	\$8.00	\$8.00

Item Description	Regular Price	Sell Price	Item Description	Regular Price	Sell Price
All Star Baseball/Batting Helmet - Black	\$2.00	\$2.00	Disney Frozen Elsa/Sleep Dress - Blue	\$3.00	\$3.00
Rawlings Baseball/Batting Helmet - Black	\$5.00	\$5.00	Fireman Hat/Red	\$1.00	\$1.00
Adidas Baseball Batting/Helmet - Black	\$3.00	\$3.00	Disney Frozen Elsa Dress/White	\$4.00	\$4.00
Prince Tennis Racket/Pink	\$3.00	\$1.50	NEW Storage Basket/white w/ grey elephant	\$5.00	\$5.00
Innova Essential Oil/Diffuser/Night Light	\$3.00	\$3.00	Planet Purse/Pink/Silver	\$1.50	\$0.75
Pack of 3 Build a Bear/Outfits	\$1.50	\$1.50	Planet Purse/Pink/Silver	\$1.50	\$1.50
Under Armour Cap/Bright Green	\$2.00	\$2.00	Hanna Andersson/Reversible Sun Hat	\$2.00	\$2.00
Under Armour Cap/Blue Striped	\$3.00	\$3.00	Old Navy Sun Hat/w/ pink bow	\$1.00	\$0.50
Graco Pack and Play/Brown/Pink w/ sheet	\$25.00	\$25.00	Butterfly Dress Up/w/ headband and wings	\$3.00	\$3.00
BRAND NEW Crazy Fort/Building Set	\$12.00	\$12.00	Fisher Price T-Ball Set/Includes Bat and Balls	\$6.00	\$6.00
Pillowfort (from Target)/Wooden Triangle Shelf	\$10.00	\$10.00	Phlat Ball/Frisbee Ball	\$2.00	\$2.00
Pillowfort (from Target)/Seek Adventure Wall Art	\$6.00	\$6.00	Sports Theme Storage/Cube	\$1.00	\$0.50
Boyds Bears/Baseball Figurine	\$2.00	\$2.00	Wicker Storage Basket/Pink Striped Lining	\$1.50	\$1.50
Boyds Bears Navy/Seaman McBear	\$5.00	\$5.00	Sports Themed Lamp	\$3.00	\$3.00
Boyds Bears Soccer/Picture Frame	\$2.00	\$2.00	Magic Tracks Racing Set/Includes 3 cars	\$8.00	\$4.00
Yesterday's Child/"Allison" Doll	\$10.00	\$10.00	Cardboard Building/Blocks	\$4.00	\$4.00
Boyds Bears Figurine/Studying Girl	\$2.00	\$2.00	LEGO Minecraft Set/21105	\$8.00	\$8.00
Boyds Bears Figurine/Daphne Reader Hare	\$2.00	\$2.00	Disney Princess Figures	\$2.00	\$2.00
Boyds Bears Figurine/R.S. Huffenpuff	\$3.00	\$3.00	Big Bag of Fidgets/Huge Variety	\$4.00	\$2.00
Boyds Bears Figurine/Natalie Nuttinfits	\$5.00	\$5.00	Nanoblock/Crocodile	\$1.50	\$0.75
Boyds Bears Figurine/Sir Edmund Persistence	\$3.00	\$3.00	Huge Bag of Little/People and Animals	\$6.00	\$6.00
Boyds Bears Figurine/Amanda & Michael Strings	\$3.00	\$3.00	Little People Snow White/& 7 Dwarfs Set	\$5.00	\$5.00
Boyds Bears Figurine/Simone and Bailey	\$3.00	\$3.00	Plus Plus Puzzles/Pack of 2	\$1.00	\$1.00
Mickey Mouse Plate and/2 Bowls	\$1.00	\$1.00	Baseball Bow and/Star Clips	\$0.50	\$0.50
Minnie Mouse Oversized/Mug	\$1.00	\$1.00	Walt Disney Showcase/Minnie Mouse Figurine	\$2.50	\$2.50
Set of 2 Barney Plates	\$0.50	\$0.50	Pants Hanger	\$1.50	\$1.50
Disney Frozen Plate	\$0.50	\$0.50	Fit Blt with Charger/Pink	\$5.00	\$5.00
Set of 2 Sectioned Plate/Minnie and Frozen	\$1.00	\$1.00	Carters Footed Sleeper/Navy with Vehicles	\$1.50	\$1.50
Fingerlings Play Set/w/ 5 Fingerlings	\$5.00	\$5.00	PITT Sleeper	\$1.50	\$1.50
Fisher Price Piggy Bank	\$3.50	\$3.50	Orange Sport Socks/Soccer/Baseball	\$1.00	\$1.00
Pokemon Go Game	\$1.50	\$1.50	Under Armour Compression/Shirt - Blue Superman	\$3.50	\$3.50
Revell Datsun Truck/Model Set	\$3.00	\$1.50	Bin of Army Guys/Battle Equipment	\$6.00	\$6.00
Graco Doll Stroller	\$2.00	\$2.00	Giant Tractor Trailer/Truck	\$6.00	\$6.00
Melissa and Doug/Spill Proof Paint Cups	\$3.00	\$3.00	Giant Tractor Trailer/Truck	\$6.00	\$6.00
Large Rectangular Pool/NO LEAKS!!	\$8.00	\$4.00	Pop It Backback/Blue/Rainbow	\$4.00	\$4.00
Wooden "Timeout" Bench	\$10.00	\$10.00	Nike Flip Flops - Brown/NEVER WORN	\$5.00	\$5.00
BRAND NEW Melissa and/Doug Jumbo Brush Set	\$3.00	\$3.00	BRAND NEW Matilda Jane/Flip Flops	\$5.00	\$5.00
Tom and Jerry T-shirt/Navy Blue	\$1.00	\$1.00	Victoria's Secret Pink/Lace Bra - 34B	\$2.50	\$2.50
Scooby Doo 2pc PJs	\$2.00	\$2.00	Adidas Socks/6 pairs	\$2.00	\$2.00
Thomas the Train tshirt/Red	\$1.00	\$1.00	Disney The Lion King/The Novelization	\$1.00	\$1.00
Elmo Tshirt/Grey	\$1.00	\$1.00	Eerie Elementary/The School is Alive!	\$1.00	\$1.00
iplay swim diaper/white	\$2.00	\$1.00	The Christmasaurus/Hardback Book	\$1.00	\$1.00
Horse Costume/Brown/Cream	\$3.00	\$3.00	Children's Encyclopedia/of Dinosaurs	\$2.00	\$2.00
2 pack Disney Dresses/Cinderella & Snow White	\$4.00	\$4.00	Large Box of Hot Wheels/Track	\$10.00	\$5.00
Disney Frozen Anna Dress/Green	\$3.00	\$3.00	LOL Dolls and/Accessories	\$5.00	\$5.00

# Consignor #2

# 85% Total Sell-Thru Rate 637 Items Sold

# 83% Sold at Full Price

Item Description	Regular Price	Sell Price
Sandpiper Skim Board/For the Beach	\$8.00	\$8.00
Standing Target and/2 guns with ammo balls	\$8.00	\$8.00
Tonka Truck with Lights/and Sound	\$3.00	\$3.00
Lego Flashlight	\$2.00	\$1.00
Remote Control Trains/Fit on wooden track	\$4.00	\$4.00
Child Proof Door Lever/Lock - 2 pack (unused)	\$2.00	\$1.00
Fisher Price Ball/Blocks (2)	\$0.50	\$0.50